Assembling Instruction

Attention:Do not tighten the screws until all of them are in right positions

NOTE:Please contact us in time if you find any accessories missing or
damaged in the package ,we will send you the corresponding accessories

for free.
1 2 8

x1 X3 x1
4 5 6

x1 x1 X1
7 8 9

x1 x1 X1
10 11 12

X2 X2 X8
13 14 15

X2 x4 x1
A B

) ®) g
M6x12 x12 M6 x1 M6x30 x24 M6x35 x30 M6x15 x1

F G

x4

M6

x4




. L = \..w?
———7 Ay
Am.wn . .\R.\ie ol VD\/ 5 \\ D«N m

/ <
a




[y

%

/Tgﬁ\\ % \\/ /\
&Y T
| //D /D//D Y4 N /\




Gls> |
7

AT

g NV




